WELCOME TO 8™ GRADE MATH

Dear Students and Parents,

As an 8% grader, it is important to be able to solve operations with positive and
negative numbers. This is prerequisite material needed to be successful next year.
Please complete the attached packet.

* This summer packet must be completed BEFORE the first day of school.
* Youare to show all work. (no calculator)

¢ Packets will be graded as a homework assignment.

* Packets will be collected the first day of school.

*  You will be given a test on this material within the first week of school that
will count toward your first marking period grade.

Do not expect to complete this packet in one sitting. Itis recommended that you
work on one worksheet ata time. Plan to take your time when working on these
problems. You may use another sheet of paper if there is not enough room to show
your work. Showing work demonstrates to your teacher that you fully understand
the concepts.

If you need help, you can go to http://www.khanacademy.org and sign up (free) to
begin using this on-line learning tool.

Students and Parents: To show that you have read and understood the
instructions above, please sign below and return it to your teacher on the first
day of school.

Thank you, and have a great summer!

Student Name: (print)

Student Signature:

Parent Signature:
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Study Guide and Interventlnn
Adding Integers

To add integers with the same sign, add their absolute values. Give the result the same sign as the
integers. : - ‘

Fmd -3+ (~4)

—3 + (—-4) = 7 ' Add |- 3l + l 4, Bbth numbers are negatlve so the sum Is negatwe

“To add mtegers W|th different signs, subtract their absolute values lee the result the same. sxgn as the !
' rnteger wath the greater absolute value ' : _

Fmd ~16 412
* |

—16 +12 = 4 a Subtract l12| from I 16! The sUm ls negatlva because |— 16I > I121
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Evaluate each'expressioﬁ ifx=4andy = —3.

15. 11 +y 16 x + (=6) | C1Ty+2

18. |x + y] y 19. |x| +y | 20, x + |y|
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Evaluate each expression.

Lletn=3 12 + n

letS =16 3S

letx=-7 -X + X

Letp=-2 p3

Algebra; Evaluating Expressions

9] x* +y° 13

10] > 14

2x2y

-Xy

(2xy )

X+y-1



Algebra: Properties (continued)

Rewrite using the distributive property.

m) eq + eh

f(j-s)

5(a+b)

3(x+6)

] 2 (5x-1)

a(x+y+4)
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Rewrite by factoring.

ab + ac Q,Cbi-(l)

2b + 2c

X + 4x

158 - 11s

ax + bx + cx




Algebra: Simplifying Expressions

Collect like terms to find an equivalent expression.

3x + 6x

8x +4y-5x -7y
10x - X

- Ox + X
13+5t+6y-t-y-2
a-4a

8Xx-5x+3+2y-y-1

-(3+x)
~(5x+7)
~(~2x~-6y+4)
-(10x-17)
-2 (4x+8)

Remove parentheses and collect like terms fo find an equivalent expression.

By - (5x-2y +8)

3a+2a-(5a+6)

Sy-2-(2y-4)

20a-3(6a-2)

[3(x+2)+2x] - [4(y+2)-3(y-2)]



Equations: Addition Principle

Solve using the addition principle.

= -12

19

z+32 =57

I
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' Algebra: Multistep Equations

Solve for x.

Ox-5 = 13

3x+12 = 24

3] 8x-2 = 4+ 5x

2(3x+4) = x+6

6] 6-2(x+3) = 1+4x

7] -8x-10 = -3

8] 7X+3x-(10x+2) = 5+x

X
> +6 = 16

10] 8+2(x-7) =0




Types of Slopes

S1

Identify the slope as positive, negative, zero, or undefined from each

graph.
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Draw a line through the given coordinates, and identify the type of

slope.

1) (10,15) and (-15, 15)
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2) (-4,6)and (2, -18)

3) (-10, 8) and (-10,-12)
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S1

Ua”U:

* Lormulec
Slope X2 =X,
Find the slope of each line passing through the given pair of points.
Xi Yi Xa Ya_
1) (2,7)and (-4, 2) (9,4 and(3,0)
d=1_ = =L
..._L..I._.jv ‘__(D._I
slope = 4 slope =
3) (-6,1)and(8,-7) 4) (6,5)and (2, 3)
slope = slope =
5) (-3,-8)and (7, 4) 6) (2,0)and(-4,6)
slope = slope =
7) (-8,5)and (10, -1) 8) (5,8)and(7,-2)
slope = slope =

9) Find the slope of the line passing through the points (=10, 5) and (2, 5).




